EAGRAROBREERT — 2 N— ABISH —F

201959R8H (B) 4mE+1L2H

LN >xcme 1By52x (RS [E%l =8 (w1 8 | mewml — |2 @ oo
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 ™ ~ 33 :1,900,000 8 43 :1,100,000 @ 5 & :750,000 M
BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
YN e HD#{E 147, —2-2~ . . PNEEAESL (3558)
G5 L HTLR i3 o2 1(4_7)1 2-2-2-2 |33.8] 96.3 | 1 :1_6;58) s
LN=Y754 B:TI—32N— HET77— L
N Bl PG| 147. -7-7- . . TR (Ei#)
HFOTH—J % 3 o 1(427)4 7-7-7-7 | 33.6 | 93.1 5 :zg;) oL
:O—KH+ra7 #:4rF-—o—H BXKEE
“ ; # 3 | FlaEX 1:47.4 1-1-1-1 | 34.3| 9.8 | 4 474 | AZHERIR (EH)
FvIEIR 54.0 (n) Loy | AR
R:/FrVX N Bily RAFS5—/ TALD4S
. N ARIEI5H : 44— WA= (EH)
FE—JLISA i 5 A 1(.14/72.)5 4-4-4-4 |34.0| 91.8 | 7 (4_526) o
R:xF21=ZG7—X BETRNITINAA pE e ]
. £ 4 | EEE 1:47.7 9-9-7-7 |33.8| 89.7 | 6 472 | FHEEBX (EiH)
5/7|7| 7R FPAE- A (1 1/2) o | ) saL- sz
R:xF1=gr—X B:wiN1 "HET7— L
> L 3 4 3 | BHEARR 1:47.7 6-6-4-4 |34.2| 89.3 | 2 470 | EFME— (Ei)
6|55 ¥T®IVI2hX #53.0 (74%) we | B ¥5TLyEI5T 5707
R:F4—TA>NN7 b B:vA4RxX—J1) EvJiLy RT77—L4L
43 | HEEAH 1:47.8 3-2-32 |34.4| 86.7 | 3 446 | BIUER (EiH)
71810 7V¥X 54.0 (1/2) 4g) | B EviLykT7—1
L:ANTz—JI BARI-LFxvTFv FRESS
S — o= “ D =[ER . A = 5
gl7lg| ¥v1=—K317 [B] > 5 iﬁgﬂ 1.(418).0 4446 |34.4| 8.1 | 9 (4;4) jﬁﬁgﬂg (=)
LhT I/ RI4T B:TIA4T714T7F1I b e ]
o oIS 4 4 | WWEHE 1:48.4 10-9-10-10 | 34.2 | 82.0 | 10 | 488 |H¥HY (EiH)
91[1|FFARN=TFT> A54.0 2 1/2) g | W LTI F—yS5TLy KR
L:7L>FFE2T71 BIL—TRTFI BEWS
= 4 3 | BUBEHE 1:48.6 7-8-7-7 |34.7| 77.8 | 8 450 | BRAFIA ()
10(8]9| P77 bXH—F %51.0 (' 1/4) “12) ) 2<5av—2
s hT7—bEY B:iOfzx—thHTz Elikse
@ 21 L
£y 45.9-34.0
NO>24 L | 12.7-12.0-11.9-12.5-12.1-11.9-11.4-11.2-11 .4
@ I—F—@EBIERL
| S=7r= 4,6,10(3,8)5(2,9)7,1
Aol=5"= 4(6,10)-(3,8)5,2,9(1,7)
g =5r= 4,6,10(3,8,5) (2,7,9)-1
Mal=5r= 4(6,10) (3,5)8(2,7,9)-1
[ RN
B 6 270M 794K 2-6 460 & 2-6 1,270M &R 2-4-6 1,900
# B 6 130M 4-6 340 B E 2-6 1,2108 EE 6-2-4 7,940
2 210H 2-4 780M B H 6-2 1,850/
4 190M9

ABRICOVTHRTEEERROODE, THEB LS,




